
22 8N=O 1941 7од4 =4G4л4EP 6еEток4O, 
кDо6опDол8т=4O 6о9=4. �оDел8 7оDод4 
8 Eел4, 785л8 тOEOG8 лNде9. 
�у6еEт6е==о деD64л о5оDо=у �DеEт. 
�8лEO E 6D47о< КуDEк. �8л 8 ED464лEO 
6 колPFе 5лок4дO Ле=8=7D4д. �8л 8 
ED464лEO 900 EтD4H=Oх 7олод=Oх 

5лок4д=Oх д=е= < =оGе=. �4 900 д=е9 
5лок4дO 746одO Ле=8=7D4д4 д4л8 
DDо=ту 5олее 2 тOEOG т4=ко6, 1500 
E4<олето6, 150 тO6елOE <оDEк8E 
оDуд89, 4500 поле6OE оDуд89 D47=OE 
к4л85Dо6, 12 тOEOG <8=о<ето6, 212 
тOEOG ед8=8F EтDелко6о7о оDу68O, 
5олее 7 <8лл8о=о6 4Dт8ллеD89Eк8E 
E=4DOдо6 8 <8=. 

�е68д4==Oе тDуд=оEт8 8 EтD4д4=8O 
пD8HлоEP пеDе68тP Ле=8=7D4ду, 
котоDO9 5Oл л8Hе= 74п4Eо6 
пDодо6олPEт68O 8 топл864. �OHл8 87 
EтDоO 6одопDо6од 8 к4=4л874F8O, =е 
5Oло QлектD8GеEт64, до<4 =е 
от4пл864л8EP. 

К =4G4лу оE4дO 87 Ле=8=7D4д4 
6O6е7л8 толPко =е5олPHуN G4EтP 

68теле9 (<е=ее 500 тOE. Gело6ек). 
Около 3 <л=. Gело6ек =е уEпел8 
уеE4тP. � оE46де==о< 7оDоде оEт4лоEP 
5олее 400 тOE. дете9. �8тел8 7оDод4 
до ко=F4 E6о8E д=е9 6Eпо<8=4л8 
EуDо6уN 78<у 41-42 7одо6. � тот 7од 
5Oло отклNGе=о отопле=8е, =е 
D45от4л4 к4=4л874F8O, 6одO 6 кD4=е 
=е 5Oло. � <е6ду те< те<пеD4туD4 =4 
ул8Fе Dедко под=8<4л4EP 6OHе - 18 

7D4дуEо6. �л47оуEтDое==Oе до<4, 
т4к8< о5D47о<, пDе6D4т8л8EP 6 

о7Dо<=Oе Eолод=Oе EклепO, 
пD4кт8GеEк8 =епD87од=Oе длO 68лPO. 
!п4E4л8EP толPко т4к =47O64е<O<8 
пеGк4<8-5уD6у9к4<8. �4 =е8<е=8е< 
дDо6 топ8л8EP т4к8е пеGк8 к=874<8, 
<е5елPN 8 6Eе<, Gто <о7ло 7оDетP. 
Ф4H8EтO =е толPко 67Oл8 7оDод 6о 
6D46еEкое колPFо, =о 8 Dе7улOD=о е7о 
о5EтDел864л8, 4 т4к6е E5D4EO64л8 
5о<5O. �олPHе 200 тOEOG E=4DOдо6 8 
5о<5 5Oло E5DоHе=о =4 68теле9 
Ле=8=7D4д4. Од=4ко по Eт4т8Eт8ке, от 
5о<5е6ек по785ло =е 5олее 3% 
68теле9. ОEт4лP=Oе Eко=G4л8EP от 

тот4лP=о7о 7олод4. Блок4д4 
Ле=8=7D4д4 =4ч4л4EP 8 Eе=тO5DO 
1941 7од4. �4 тот <о<е=т 6 7оDоде =е 
5Oло пD8п4Eо6. ОGе=P 5OEтDо лNд8 
Eт4л8 7олод4тP 8 8EполP7о64тP 6 п8Iу: 
<уG=о9 кле9 (8< D4=PHе кле8л8 
о5о8); FеллNло7у; 87дел8O 87 ко68 
(куDтк8 8 E4по78 о56874л8 =4 о7=е 8 
64D8л8); 7л8FеD8=.  

� =4G4ле оккуп4F88 F8DDO 6O7лOдел8 
EледуNI8< о5D47о<: D45оч8е 
полуG4л8 600 7D4<<о6 Eле54; 
Eлу64щ8е – 400 7D4<<о6; дет8 – 300 

7D4<<о6. Это 5Oл4 =оD<4 =4 Eутк8. 
�D8 Qто< Eле5 =е D47д464лEO 
5еEпл4т=о, е7о =4до 5Oло покуп4тP, 
д46е пок4 Hл4 5лок4д4 Ле=8=7D4д4. 
Од=4ко у6е 6 ко=Fе =оO5DO 41-7о 7од4 
=оD<у E=878л8 5олее Gе< 6 д64 D474: 
D45оч8е Eт4л8 полуG4тP по 250 
7D4<<о6; дет8 8 86д86е=FO – 125 

7D4<<о6.  

Эт4 F8DD4 – «125 5лок4д=Oх 
7D4<< E о7=е< < кDо6PN 
попол4<» - =46Eе7д4 оEт4=етEO 



од=8< 87 E8<6оло6 5лок4дO. �о6оDOт, 
Gто у 5лок4д=о7о Eле54 =е 5Oло =8 
6куE4, =8 74п4E4. �окDу7 пек4Dе= =е 
D4EпDоEтD4=OлEO т4ко9 EоDоHо 
7=4ко<O9 =4< 4Dо<4т от тепло9 
E6е6е8EпеGе==о9 5уE4=к8 Eле54. �о у 
5лок4д=8ко6 дDу7ое <=е=8е: «До E8E 
поD по<=N Qтот <4ле=Pк89, 
толщ8=о9 =е 5олее 3 E<, 
чеD=O9, л8пк89 куEочек. С 
уд868телP=O< 74п4Eо<, от 
котоDо7о =е отоD64тPEO 8 
оче=P 6куE=O9! ХотO 7=4N, <ук8 
6 =е< 5Oло <4ло, 6 оE=о6=о< 
D47=Oе пD8<еE8. М=е 8 Eе7од=O 
=е 745OтP тот 6ол=уNщ89 
74п4E».   

_____________________________ 

!оEт468телP: 585л8о7D4D �еGе=к8=4 
Е. .  

  

 

 «ШеEт=4дF4тP тOEOG <4теDе9 

п49к8 полуG4т =4 74Dе — 

Eто д64дF4тP пOтP 5лок4д=OE 
7D4<< 

E о7=е< 8 кDо6PN попол4<. 

...О, <O по7=4л8 6 дек45Dе — 

=е 7DO «E6OIе==O< д4Dо<» 
=4764= 

о5OG=O9 Eле5, 8 тO6к89 7DеE — 

EотO 5O кDоHку 5DоE8тP =47е<P: 

Т4к8< лNдEк8< EтD4д4=Pе< о=, 

т4ко9 5олPHо9 лN5о6PN 
5D4тEко9 

длO =4E от=O=е оE6OIе=, 

=4H Eле5 =4EуI=O9, 
ле=8=7D4дEк89».  

 

 

�D4Gе6Eк4O D49о==4O 585л8отек4 

�К&�/ «�ЛОК���/� %Л��» 

(поE6OI4етEO 78-= 7одо6I<=е 
пол=о7о E=Oт<O 5лок4дO 

Ле=<=7D4д4) 

 

 «125 �ЛОК���/% � ��� ! 
О���� � К О�0. �О�ОЛ��…» 
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